(AMBFKiIKER KHREEER

_ _ _ 2017F4AKET
[EAIEY n_= #EENO #_H 6% LLT| 7~ 8% | 9~ 10/% | 10~ 12| 13~ 145%[ 15~ 198%| 20~ 29% | 30~ 397% [ 40~ 4955 | 50~ 59% | 60~ 69#% | 70s% LA |
148 | 200m B A AR L — % EH B8R LN TRk 1 200m A AARFL—| 4:580] 4:31.0] 3:49.0] 3:28.0] 3:13.0] 3:05.0] 4:00.0] 4:10.0] 4:20.0] 4:30.0] 4:45.0] 5:02.0
2% | 100m{E A ARL —ZFEAE R R LN Tk 2 100m EAARL—| 2:30.0] 2:16.0] 2:03.0] 1:48.0] 1:39.0] 1:32.0f 1:50.0] 2:00.0] 2:10.0] 2:20.0] 2:40.0| 2:45.0

3 50m /N % J 5 A| 1:160] 1.080] 1:000] :520| 480] :440| :500] :550| 1:.000] 1:05.0] 1:150] 1:30.0

. 23 s @ 5 =003 s s 4 50m F jk =F| 1:28.0| 1:20.0( 1:11.0] 1:01.0 :56.0 :51.0 :59.0/ 1:04.0] 1:09.01 1:14.0] 1:24.0| 1:27.0

3R | KA DVKRERERRUNTRIK 50m% O — JL| 1:110] 1.030] :560| :490| 440 :410| 470 520 570 1:020] 1:070| 1:120

6 50m & k= 1:200] 1:12.0] 1:04.0 :55.0 :51.0 :46.0 :53.0 :58.0] 1:03.01 1:08.0] 1:13.0] 1:22.0

7 25m /N3 J 5 A| :390] 330 290] 250 240 220] 250] =270] :290] 320 :370] 480

. 23 s @ 5 =003 s s 8 25m F  jk F 1440 :39.0 :35.0 :30.0 :27.0 :25.0 :29.0 :31.0 :34.0 :36.0 41.0 :43.0

ARk 4R O THAERIERRANTTK 25m 4~ O — JL| 350] 310 270 240 220 :200| 230 =250] :280| :300| :330| :36.0
© 10 25m Y& sk F| :400] :350[ :310] :270| :250[ :230| :26.0] :280[ :31.0] :330] :36.0[ :41.0
11 25m /N2 J 5 A| 480| 430 :380| :330] :300] :270] :310] 340] :370] 400 :450] :580

. s5e &5 =002 s s 12 25m F  jk F 149.0 :44.0 :39.0 :34.0 :31.0 :28.0 :32.0 :35.0 :38.0 41.0 :146.0 :49.0

¥ S8R | 4TKIATH D1 AERERFIANTIEK 13 25m 4 B8 — JU| 400 :350[ :310] :270| :240| :230| :26.0| :29.0| :310| :340[ :370[ :400
14 25m &% 5k  =| 450| 400 :350] :300] 280 :250| 290 320] 350] 370 00| 450

15 25m /N2 J 5 A| 530| 480 430| :380] :350] :320| :36.0] :390] :420] 450 :500| 1.03.0

w5 o 1 2163 1o kg ea | 16 25m £ 3k =| 540| 490 440| 390 360 :330| 370 400| 430| 460 510| 540

68k | 4IETH DUARERBEBRANTTX 3 05 1% 0 — Ju| 450 400| 360 320 200 280| 310| 340| 360| 39.0] 420 450
18 25m &% x =| 500| 450 400| 350 330/ :300| 340 370] 400| 420/ 50| 500

19 25m /N2 J 5 A| 580 530] 480| :430| 400] :370| 410] 440] :470] 500 :550| 1.080

SO T} 25m £ 3k =| 590| 540 490| 440 410 :380| 420 450] 480| 510/ 560] 590

78R | 4TCER OURRERBRZUNTRIK [ 25m & 0O — JU| 500| 450 410 370 340 :330| :360| 39.0| 410] 440 470 500

) 22 25m % pk _=| 550 500 450 400| 380| :350| :390| 420 450 470 500 550

T#R | 200mB A AR —Z B s LN Coik| 23 | 200m B AARL —| 4580] 4:31.0] 349.0| 3.180] 3.00.0] 2:450] 3.20.0] 3:30.0] 3:400] 3.50.0] 4050 4:30.0
24% [100m A AARL—Z @& RN TR 24 | 100m fAAARL—| 2:300] 2:160] 2:03.0] 1.480] 1:320] 1.250] 1:400] 1:50.0] 2:000] 2:100] 2:20.0] 2:27.0

25 50m /N % J 5 A| 1:160] 1.080] 1.000] :520| 440] :400| :480] 530] :580] 1.03.0 1:.080] 1:16.0

R R T; 50m £ 3k =| 1:280| 1200 1:110| 1010 510 470 560 1:01.0] 1:060] 1:11.0] 1:160[ 1:21.0

3R |AKERDVKRERERRUNTRIK 050 5 0 — Ju| T.11.0] 1030] 560 490 410 370 450| 500| 550 1.00.0] 1050 1110
28 50m &% 3k  =| 1200 1:120] 1.040] 550 46.0| :430] 10| 560] 1:010] 1:06.0] 1:11.0] 1:220

29 25m /N2 J 5 A| 390] 330 290] :250] 220] :200] 240] =260] :280] 310 :330] :350

s bk 213 1o ez ] 30 25m £ 3k =| 440| 390 :350| :300| 250 :230| 270 :300| :320| 350 :370| 400

48R | AR O THORE R R AN TR 25m %~ B8 — JU| 350 310 270] 240 200 :180] 220| 250 270 290| 320 :350

5 32 25m Y sk F| :400] :350[ :310] :270] :230[ :210| :250] :270[ :30.0] :32.0] :350[ :38.0
33 25m /N2 J 5 A| 480] 430 380| :330] 270/ :250| :300] :330] :350] 380 :410| 440

s b 2 1o e | 3% 25m £k =| 490| 440 390| :340| 280 :260| 310 :340] :360| :39.0| :420| 450

F S8R | 4TIATH D 1A AERERRIANTIEK 35 25m 4 B8 — JU| 400 350/ 310/ 270 :230] :200| 250/ :280| :300| :330[ :36.0[ :400
36 25m %5 & =| 450 400 :350| :300] 250/ :240| 280 310] :340| 360/ :390| 430

37 25m/NZ TS5 A :53.0 :48.0 :43.0 :38.0 :32.0 :30.0 :35.0 :38.0 :40.0 :43.0 46.0 490

w5 st gm s s10m 1o o pemin | 38 25m £k =| :540| 490 :440| :390| 330/ :310| 360 :390] 410| 440 :470| :500

68k | 4R DUARERBEBANTIK 0100 5 7 — JL| 450] 400] 360 320 280 250 300| 330| 350| 380| 410| 450
40 25m %5 & =| :500| 450 :400| :350] 300/ 290/ 330 360] :390| 410 440] 480

41 255mIINF TS5 A :58.0 :53.0 :48.0 :143.0 :37.0] :35.0 :40.0] :43.0 450 48.0 :51.0 :54.0

NS —————" ') 25m £k =| :590| 540 :490| 440 380 :360| 410| 440] 460| 490 :520| 550

THR | AACEROUEREREBRBUANTRIX 0| 55 5 0 — L] 500| 450 410| 370] 330| 300 350 380 400| 430| 460| 500
44 25m 25 & =| 550/ 500 :450] 400| 350/ :340| 380 410| 440 460/ 490] 530




